

Ann. Funct. Anal. 4 (2013), no. 1, 18–24

ANNALS OF FUNCTIONAL ANALYSIS

ISSN: 2008-8752 (electronic)

URL: www.emis.de/journals/AFA/

# ON GLOBAL BOUNDS FOR GENERALIZED JENSEN'S INEQUALITY

# JÓZSEF SÁNDOR

Communicated by K. S. Berenhaut

ABSTRACT. We offer a global bound for an abstract Jensen's functional. Particularly, the results from Simić [Rocky Mount. J. Math., 41 (2011), no. 6, 2021–2031] are reobtained. Applications to integral inequalities and the theory of means are pointed out.

#### 1. Introduction

Let  $f:[a,b]\to\mathbb{R}$  be a convex function, and  $x_i\in[a,b]$  for  $i=1,2,\ldots,n$ . Let  $\underline{p}=\{p_i\}, \sum_{i=1}^n p_i=1,\ p_i>0\ (i=\overline{1,n})$  be a sequence of positive weights. Put  $\underline{x}=\{x_i\}$ . Then the Jensen functional  $J_f(p,\underline{x})$  is defined by

$$J_f(\underline{p},\underline{x}) = \sum_{i=1}^n p_i f(x_i) - f\left(\sum_{i=1}^n p_i x_i\right).$$

In a recent paper [7] the following global bounds have been proved:

**Theorem 1.1.** Let  $f, \underline{p}, \underline{x}$  be defined as above, and let  $p, q \ge 0$ , p + q = 1. Then  $0 \le J_f(\underline{p}, \underline{x}) \le \max_p [pf(a) + qf(b) - f(pa + qb)].$  (1.1)

The left side of (1.1) is the classical Jensen inequality. Both bounds of  $J_f(\underline{p},\underline{x})$  in (1.1) are global, as they depend only on f and the interval [a,b].

As it is shown in [7], the upper bound in relation (1.1) refines many earlier results, and in fact it is the best possible bound. In what follows, we will show

Date: Received: April 7, 2012; Accepted: August 15, 2012.

<sup>2010</sup> Mathematics Subject Classification. Primary 47B65; Secondary 26D15, 26B25, 26E60.

Key words and phrases. Positive linear functional, convex function, global bound, Jensen's discrete inequality, Jensen's integral inequality, mean, mean inequality.

that, this result has been discovered essentially by the present author in 1991 [4], and in fact this is true in a general framework for positive linear functionals defined on the space of all continuous functions defined on [a, b].

In paper [4], as a particular case of a more general result, the following is proved:

**Theorem 1.2.** Let  $f, p, \underline{x}$  as above. Then one has the double inequality:

$$f\left(\sum_{i=1}^{n} p_i x_i\right) \le \sum_{i=1}^{n} p_i f(x_i)$$

$$\le \left(\sum_{i=1}^{n} p_i x_i\right) \left[\frac{f(b) - f(a)}{b - a}\right] + \frac{bf(a) - af(b)}{b - a}.$$
(1.2)

The right side of (1.2) follows from the fact that the graph of f is below the graph of line passing through the points (a, f(a)), (b, f(b)):

$$f(x) \le (x-a)\frac{f(b)}{b-a} + (b-x)\frac{f(a)}{b-a}.$$

By letting  $x = x_i$ , and multiplying both sides with  $p_i$ , after summation we get the right side of (1.2) (the left side is Jensen's inequality).

Now, remark that the right side of (1.2) can be written also as

$$f(a) \left[ \frac{b - \sum_{i=1}^{n} p_i x_i}{b - a} \right] + f(b) \left[ \frac{\sum_{i=1}^{n} p_i x_i - a}{b - a} \right].$$

Therefore, by denoting

$$\frac{b - \sum_{i=1}^{n} p_i x_i}{b - a} = p$$
 and  $\frac{\sum_{i=1}^{n} p_i x_i - a}{b - a} = q$ ,

we get  $p \ge 0$ , p + q = 1 and  $\sum_{i=1}^{n} p_i x_i = pa + qb$ . Thus, from (1.2) we get

$$0 \le J_f(\underline{p},\underline{x}) \le pf(a) + qf(b) - f(pa + qb)$$

and this immediately gives Theorem 1.1.

## 2. An extension

Let C[a,b] denote the space of all continuous functions defined on [a,b], and let  $L:C[a,b]\to\mathbb{R}$  be a linear and positive functional defined on C[a,b] i.e. satisfying  $L(f_1+f_2)=L(f_1)+L(f_2), L(\lambda f)=\lambda L(f)$  ( $\lambda\in\mathbb{R}$ ) and  $L(f)\geq 0$  for  $f\geq 0$ . Define  $e_k(x)=x^k$  for  $x\in[a,b]$  and  $k=0,1,2,\ldots$ 

The following result has been discovered independently by Lupaş [2] and Sándor [4]:

20 J. SÁNDOR

**Theorem 2.1.** Let f be convex and L,  $e_k$  as above and suppose that  $L(e_0) = 1$ . Then we have the double inequality

$$f(L(e_1)) \le L(f) \le L(e_1) \left[ \frac{f(b) - f(a)}{b - a} \right] + \frac{bf(a) - af(b)}{b - a}.$$
 (2.1)

We note that the proof of (2.1) is based on basic properties of convex functions (e.g.  $f \in C[a, b]$ ). Particularly, the right side follows on similar lines as shown for the right side of (1.2).

Define now the generalized Jensen functional as follows:

$$J_f(L) = L(f) - f(L(e_1)).$$

Then the following extension of Theorem 1.1 holds true:

**Theorem 2.2.** Let f, L, p, q be as above. Then

$$0 \le J_f(L) \le \max_p [pf(a) + qf(b) - f(pa + qb)] = T_f(a, b).$$
 (2.2)

*Proof.* This is similar to the method shown in the case of Theorem 1.2. Remark that the right side of (2.1) can be rewritten as

$$f(a)p + f(b)q,$$

where

$$p = \frac{b - L(e_1)}{b - a}$$
 and  $q = \frac{L(e_1) - a}{b - a}$ .

As  $e_1(x) = x$  and  $a \le x \le b$ , we get  $a \le L(e_1) \le b$ , the functional L being a positive one. Thus  $p \ge 0$ ,  $q \ge 0$  and p + q = 1. Moreover,  $L(e_1) = pa + qb$ ; so relation (2.2) is an immediate consequence of (2.1).

By letting  $L(f) = \sum_{i=1}^{n} p_i f(x_i)$ , which is a linear and positive functional, we get  $J_f(L) = J_f(p, \underline{x})$ , so Theorem 1.1 is reobtained.

Let now  $k : [a, b] \to \mathbb{R}$  be a strictly positive, integrable function, and  $g : [a, b] \to [a, b]$  such that f[g(x)] is integrable on [a, b]. Define

$$L_g(f) = \frac{\int_a^b k(x)f[g(x)]dx}{\int_a^b k(x)dx}.$$

It is immediate that  $L_g$  is a positive linear functional, with  $L_g(e_0) = 1$ . Since

$$L(e_1) = \frac{\int_a^b k(x)g(x)dx}{\int_a^b k(x)dx},$$

by denoting

$$J_f(k,g) = \frac{\int_a^b k(x)f[g(x)]dx}{\int_a^b k(x)dx} - f\left(\frac{\int_a^b k(x)g(x)dx}{\int_a^b k(x)dx}\right),$$

we can deduce from Theorem 2.2 a corollary. Moreover, as in the discrete case, the obtained bound is best possible:

**Theorem 2.3.** Let f, k, g as above, and let  $p, q \ge 0$ , p + q = 1. Then

$$0 \le J_f(k,g) \le T_f(a,b).$$

The upper bound in (2.3) is best possible.

*Proof.* Relation (2.3) is a particular case of (2.2) applied to  $L_g$  and  $J_f(k,g)$  above. In order to prove that the upper bound in (2.3) is best possible, let  $p_0 \in [0,1]$  be the point at which the maximum  $T_f(a,b)$  is attained (see [7]). Let  $c \in [a,b]$  be defined as follows:

$$\int_{a}^{c} k(x)dx = p_0 \int_{a}^{b} k(x)dx. \tag{2.3}$$

If  $p_0 = 0$  then put c = a; while for  $p_0 = 1$ , put c = b. When  $p_0 \in (0, 1)$  remark that the application

$$h(t) = \int_a^t k(x)dx - p_0 \int_a^b k(x)dx$$

has the property h(a) < 0 and h(b) > 0; so there exist  $t_0 = c \in (a, b)$  such that h(c) = 0, i.e. (2.3) is proved.

Now, select q(x) as follows:

$$g(x) = \begin{cases} a, & \text{if } a \le x \le c \\ b, & \text{if } c \le x \le b. \end{cases}$$

Then

$$\int_a^b k(x)g(x)dx / \int_a^b k(x)dx = a \int_a^c k(x)dx / \int_a^b k(x)dx$$
$$+b \int_a^b k(x)dx / \int_a^b k(x)dx = ap_0 + bq_0,$$

where  $q_0 = 1 - p_0$ .

On the other hand,

$$\int_{a}^{b} k(x)f[g(x)]dx / \int_{a}^{b} k(x)dx = f(a) \int_{a}^{c} k(x)dx / \int_{a}^{b} k(x)dx$$
$$+f(b) \int_{c}^{b} k(x)dx / \int_{a}^{b} k(x)dx = p_{0}f(a) + q_{0}f(b).$$

This means that

$$J_f(k,g) = p_0 f(a) + q_0 f(b) - f(ap_0 + bq_0) = T_f(a,b).$$

J. SÁNDOR

Therefore, the equality is attained at the right side of (2.3), which means that this bound is best possible.

#### 3. Applications

a) The left side of (2.3) is the generalized form of the famous Jensen integral inequality

$$f\left(\frac{\int_{a}^{b} k(x)g(x)dx}{\int_{a}^{b} k(x)dx}\right) \le \frac{\int_{a}^{b} k(x)f[g(x)]dx}{\int_{a}^{b} k(x)dx},\tag{3.1}$$

with many application in various fields of Mathematics.

For  $f(x) = -\ln x$ , this has a more familiar form.

Now, the right side of (2.1) applied to  $L = L_g$  gives the inequality

$$\frac{\int_{a}^{b} k(x)f[g(x)]dx}{\int_{a}^{b} k(x)dx} \le \frac{b-u}{b-a}f(a) + \frac{u-a}{b-a}f(b),\tag{3.2}$$

where

$$u = L(e_1) = \frac{\int_a^b k(x)g(x)dx}{\int_a^b k(x)dx}.$$

Inequalities (3.1) and (3.2) offer an extension of the famous Hadamard inequalities (or Jensen–Hadamard, or Hermite–Hadamard inequalities) (see e.g. [1, 3, 4])

$$f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_a^b f(x)dx \le \frac{f(a)+f(b)}{2}.$$
 (3.3)

Applying (3.1) and (3.2) for g(x) = x, we get from (3.1) and (3.2):

$$f(v) \le \frac{\int_{a}^{b} k(x)f(x)dx}{\int_{a}^{b} k(x)dx} \le \frac{(b-v)f(a) + (v-a)f(b)}{b-a},$$
 (3.4)

where

$$v = \frac{\int_{a}^{b} x k(x) dx}{\int_{a}^{b} k(x) dx}.$$

When  $k(x) \equiv 1$ , inequality (3.4) reduces to (3.3).

b) Let a, b > 0 and  $G = G(a, b) = \sqrt{ab}$ ;  $L = L(a, b) = \frac{b - a}{\ln b - \ln a}$   $(a \neq b)$ ,  $L(a,a) = a, I = I(a,b) = \frac{1}{e}(b^b/a^a)^{1/(b-a)} \ (a \neq b), I(a,a) = a \text{ be the well-known}$ geometric, logarithmic and identric means.

In our paper [5] the following generalized means have been introduced (assume  $a \neq b$ ):

$$\ln I_{k}(a,b) = \int_{a}^{b} k(x) \ln x dx / \int_{a}^{b} k(x) dx,$$

$$A_{k}(a,b) = \int_{a}^{b} x k(x) dx / \int_{a}^{b} k(x) dx,$$

$$L_{k}(a,b) = \int_{a}^{b} k(x) dx / \int_{a}^{b} k(x) / x dx,$$

$$G_{k}^{2}(a,b) = \int_{a}^{b} k(x) dx / \int_{a}^{b} k(x) / x^{2} dx.$$

Clearly,  $I_1 \equiv I$ ,  $A_1 \equiv A$ ,  $L_1 \equiv L$ ,  $G_1 \equiv G$ . Applying inequality (2.3) for  $f(x) = -\ln x$ , and using the fact that in this case  $T_f(a,b) = \ln \frac{L \cdot I}{C^2}$  (see [7]), we get the inequalities

$$0 \le \ln\left(\frac{\int_a^b k(x)g(x)dx}{\int_a^b k(x)dx}\right) - \frac{\int_a^b k(x)\ln g(x)dx}{\int_a^b k(x)dx} \le \ln\frac{L \cdot I}{G^2}.$$

For g(x) = x, with the above notations, we get

$$1 \le \frac{A_k}{I_k} \le \frac{L \cdot I}{G^2}.\tag{3.5}$$

Applying the right side of inequality (3.4) for the same function

$$f(x) = -\ln x$$

we get

$$\frac{A_k}{L} \le 1 + \ln\left(\frac{I \cdot I_k}{G^2}\right),\tag{3.6}$$

where we have used the remark that

$$\ln(e \cdot I) = \frac{b \ln b - a \ln a}{b - a} \quad \text{and} \quad \ln G^2 - \ln(e \cdot I) = \frac{b \ln a - a \ln b}{b - a}.$$

Note that the more complicated inequality (3.6) is a slightly stronger than the right side of (3.5), as by the classical inequality  $\ln x \le x - 1$  (x > 0) one has

$$\ln\left(\frac{I\cdot I_k}{G^2}\right) + 1 \le \frac{I\cdot I_k}{G^2},$$

SO

$$\frac{A_k}{L} \le 1 + \ln\left(\frac{I \cdot I_k}{G^2}\right) \le \frac{I \cdot I_k}{G^2}.$$

24 J. SÁNDOR

These inequalities seem to be new even in the case  $k(x) \equiv 1$ . For  $k(x) = e^x$  one obtains the exponential mean  $A_{e^x} = E$ , where

$$E(a,b) = \frac{be^b - ae^a - 1}{b - a}.$$

The mean  $I_{e^x}$  has been called as the "identric exponential mean" in [6], where other inequalities for these means have been obtained.

c) Applying inequality (2.3) for  $g(x) = \ln x$ ,  $f(x) = e^x$ , we get

$$0 \le A_k - I_k \le \frac{e^b - e^a}{b - a} \ln \left( \frac{e^b - e^a}{b - a} \right) + \frac{be^a - ae^b}{b - a} - \frac{e^b - e^a}{b - a},$$

where the right hand side is  $T_f(a,b)$  for  $f(x)=e^x$ . This may be rewritten also as

$$0 \le A_k(a,b) - I_k(a,b) \le 2[A(x,y) - L(x,y)] - L(x,y) \ln \frac{I(x,y)}{L(x,y)}, \tag{3.7}$$

where  $e^a = x$ ,  $e^b = y$ .

As in [5] it is proved that  $\ln \frac{I}{L} \ge \frac{L-G}{L}$ , the right side of (3.7) implies

$$0 \le A_k(a,b) - I_k(a,b) \le 2A(x,y) + G(x,y) - 3L(x,y).$$

d) Finally, applying (3.4) for  $f(x) = x \ln x$  and k(x) replaced with k(x)/x, we can deduce

$$\ln L_k \le \ln I_k \le 1 + \ln I - \frac{G^2}{L \cdot L_k},$$
(3.8)

where the identity  $\frac{b \ln b - a \ln a}{b - a} = \ln I + 1$  has been used. We note that for  $k(x) \equiv 1$ , inequality (3.8) offers a new proof of the classical relations

$$G < L < I$$
.

### References

- 1. G.H. Hardy, J.E. Littlewood, G. Pólya, Inequalities, Cambridge, 1978.
- 2. A. Lupaş, A generalization of Hadamard's inequalities for convex functions, Univ. Beograd. Publ. Elektr. Fak. Ser. Mat. Fiz. (1976), no. 544-576, 1–121.
- 3. D.S. Mitrinović, Analytic inequalities, Springer, New York, 1970.
- 4. J. Sándor, On the Jensen-Hadamard inequality, Studia Univ. Babeş-Bolyai, Math. **36** (1991), 9–15.
- J. Sándor, On the identric and logarithmic means, Aequationes Math. 40 (1990), 261–270.
- J. Sándor and Gh. Toader, Some general means, Czechoslovak Math. J. 49 (124)(1999), no. 1, 53–62.
- S. Simić, Sharp global bounds for Jensen's functionals, Rocky Mountain J. Math. 41 (2011), no. 6, 2021–2031.

Babes-Bolyai University, Department of Mathematics, Str. Kogălniceanu nr.

1, 400084 CLUJ-NAPOCA, ROMANIA.

E-mail address: jsandor@math.ubbcluj.ro